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1

Introduction

1.1

1.2

Objectives

e

Network Printer System2| Test case2t 2} case0|

e

ZAlbgiat Hlw =kelokot,

References
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System test case specification

2.1

2.2

Test case specification identifier

NPS_STC_Number_Number

Test items

Test Case
Identifier
NPS_STC_000_000

Input Specification

DO AR

Zf(data)S

Ver. 1.0

EME Network Printer System@| System TestS 3 = Z1t0| Cist EA{0]

Output

Specification

NPS_STC_100_000 | p userA a.txt ZH0| A2
o3,
201511242335.txt

NPS_STC_100_001 p admin a.txt 1sec p admin a.txt CHZIRE == 1,
201511242335.txt

NPS_STC_100_002 p userA atxt 1sec p userB atxt 1sec p | CHZ| Xt T 5,

userC a.txt Tsec p userD a.txt 1sec p userE | 201511242336.txt

a.txt Tsec p userF a.txt

NPS_STC_100_003

p userA atxt Tsec p userB a.txt 1sec p
userC a.txt 1sec p userD a.txt 1sec p userE

a.txt 1sec p userF a.txt 1sec p admin a.txt

CHZIRp7F BeoF QI

St A L
g & Qb= g8

NPS_STC_100_004 i admin 300 2sec p userA atxt(CHZ|Xt == | ¥3 +300,
0 2t&) CH2[RE == 1,
™ ELIE QI
s 71X =0
NPS_STC_100_005 a admin 20 1sec p userA a.txt(CHZ|Xts= 0 | X] +20,
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re
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NPS_STC_200_000

p userA a.txt s admin

EE ﬁ%’l
201511242342 txt

NPS_STC_200_001

i admin 300 s admin

A3 +300,
Sx) QM 3 ofL

I:l_l_E [eX =13

NPS_STC_200_002

a admin 20 s admin

8% +20,
X @4l & OfL

E—l’f orzt

NPS_STC_200_003

p userA hello.txt 1sec p userB atxt s

userA QI2f & C{7|

admin Xt 2= 1, userA ¢l
 HE = userB
oI,
201511242350.txt
NPS_STC_300_000 a admin 5 X +51%)
NPS_STC_300_001 i admin 30 A3 +30(1%)

NPS_STC_300_002

p userA a.txt 1sec a admin 1

201511242356.txt

NPS_STC_300_003

i admin 200 1sec a admin 10(fail)

ojo] ™ H0|zt=
[e] 3=13
(==l

Y3 +200Q2%)

NPS_STC_300_004

i admin 3000(fail)

x|z STetct

NPS STR T3 ver1.0

= Y,

A3 3000
NPS_STC_300_005 a admin 100(fail) ZHX2 STt

= Y,

&X| 100
NPS_STC_300_006 a admin -50 =™ otz|lm ZAl

=
NPS_STC_300_007 i admin -1000 =™ otz|lm ZAl

=
NPS_STC_400_000 h admin userlisttxt®| =&

=
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NPS_STC_400_001 j admin dslab userlist.txt0]  dslab
=7t
NPS_STC_400_002 d admin dslab Userlist.txtOf| A

dslab AfH|, AR 2+
2 HAX =9

NPS_STC_400_003

j admin userA(EXst= |FK)

X 52 7% o

o
AR &9

=

NPS_STC_400_004

d admin yuri(EXSHA| A= |FX)

AR AR KA

29

NPS_STC_400_005

j admin dslab 1sec h admin(fail)

userlist.txt0]  dslab
7t
dslabO| F7t=l =

= 53

NPS_STC_400_006

d admin userC 1sec h admin

userC7}  userlist.txt
ol A AbK|,

userC7t AHE =

2

NPS_STC_400_007 p userA a.txt 1sec j admin dslab g4 B0| otLE=z
FE2 Y =+
SiChe ¥
2015112506.txt

NPS_STC_400_008 p userA a.txt 1sec d admin dslab Al Z0| ofL =

N g2 oF ot
]

NPS_STC_400_009

p userA a.txt 1sec h admin

z —_
of
©
o
I
[

£4 E
o ASHS A

Y2 +¥z 4+
—

Qrte 2,

NPS_STC_400_010

a admin 20 1sec j admin dslab

NPS_STC_400_011

a admin 20 1sec d admin dslab

NPS_STC_400_012

a admin 20 1sec h admin

Job (OO E2 OF 40>+ oo £2 0@ ot
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<Table 1 System Test Case Identification>

2.3 Input specifications
< Table 2 System Test Case Identification > &=
2.4 Output specifications

< Table 2 System Test Case Identification > &=
3 Environmental needs
NPSQ| system testE ?[3h 2HEH
(1) IDE : c9.io
(2) Cygwin(64bit)
4 System test summary report

4.1  Test summary report identifier

Test Case Input Specification

Identifier

Output

Test
Result

Specification

NPS_STC_000_000 | Z=EZ124 A[%} Pass
NPS_STC_100_000 | p userA a.txt FHHO| 2=l Pass
otH,
201511242335.txt
NPS_STC_100_001 p admin atxt 1sec p admin | CHZ|X}b == 1, Pass
a.txt 201511242335.txt
NPS_STC_100_002 | p userA atxt 1sec p userB | CHZ|Xt = 5, | Pass
a.txt 1sec p userC a.txt 1sec p | 201511242336.txt
userD a.txt 1sec p userE a.txt
1sec p userF a.txt
NPS_STC_100_003 | p userA atxt 1sec p userB | CHZ|Xt7} 2Ot QI | Pass
atxt 1sec p userC atxt 1sec p | 8 & = QICt=
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userD a.txt 1sec p userE atxt | &&f
1sec p userF atxt 1sec p
admin a.txt
NPS_STC_100_004 i admin 300 2sec p userA a.txt | ¥3 +300, Fail
CHZIRE == 1,
S BLIE ol
S 27X =0
NPS_STC_100_005 | a admin 20 1sec p userA a.txt | &X| +20, Fail
CHZIxE == 1, BT
ELIE QMFT, Cf
7|%F =0
NPS_STC_200_000 | p userA a.txt s admin =8 IU0 54 | Pass
ToZ ¥y,
201511242342 txt
NPS_STC_200_001 i admin 300 s admin A3 +300, Pass
ol Qo & oty
gt gF
NPS_STC_200_002 | a admin 20 s admin X +20, Pass
oM el & oty
gt gF
NPS_STC_200_003 | p userA hello.txt 1sec p userB | userA Q2§ & LCH | Pass
a.txt s admin 71Xt = 1, userA
ol H3x =
userB 212,
201511242350.txt
NPS_STC_ 300 000 | a admin 5 2X| +5(1X) Pass
NPS_STC_300_001 i admin 30 A3 +30(1%) Pass
NPS_STC_300_002 | p userA a.txt 1sec a admin 1 S QM ZO|E2 | Pass
23 e+ d
Ct= &
201511242356.txt
NPS_STC_300_003 | i admin 200 1sec a admin 10 | O[0] &X F0|2} | Fail
= 2,
A3 +20022%)
NPS_STC_300_004 | i admin 3000 Z|CHX|=2 FHTHCt | Fail
= ¢,
23 3000
NPS_STC_300_005 | a admin 100 A= FHHE | Fail
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NPS STR T3 ver1.0




Ver. 1.0

s oo,
&4l 100
NPS_STC_300_006 | a admin -50 ST =D FH | Pass
3
NPS_STC_300_007 | i admin -1000 S ¢EHD F4 | Pass
£
NPS_STC_400_000 | h admin userlist.txt®| =% | Pass
e
NPS_STC_400_001 j admin dslab userlist.txtOfl dslab | Fail
=7t
NPS_STC_ 400 002 | d admin dslab Userlist.txtOf| A Pass
dslab AFH[, AFF|
etz HAIX] =8
NPS_STC_400_003 | j admin userA(EM3st= 7X) | R84 55 AHF O | Pass
AR &8
NPS_STC_400_004 | d admin yuri(ZEXSIX| @k= F | &H HE HA[X] | Pass
X) e
NPS_STC_400_005 | j admin dslab 1sec h admin userlist.txt0fl dslab | Fail
=71,
dslabO| F7t& =
£ =5
NPS_STC_400_006 d admin userC 1sec h admin userC”Z} userlist.txt | Pass
Ol A AH,
userC7t AHH|E =
£ &9
NPS_STC_400_007 | p userA atxt 1sec j admin | 84 =O0| OfL|E | Pass
dslab 2 YHS A
T tt= 2,
2015112506.txt
NPS_STC_400_008 | p userA atxt 1sec d admin | 84 S0| OfL|E | Pass
dslab 2 YHS A
T Gitt= 2,
2015112507.txt
NPS_STC_400_009 | p userA a.txt 1sec h admin Al =0| OfL|E | Pass
2 s ¥Y
T oitt= 2H,
2015112508.txt
NPS_STC_400_0010 | a admin 20 1sec j admin dslab | §4 &0| OfL|2 | Pass

NPS STR T3 ver1.0

Team 3




Ver. 1.0

2 gdEg e
T QICt= &
X +2002%)
NPS_STC 400 011 | a admin 20 1sec d admin | 4/ &0| O}L|E | Pass
dslab 2 HHE sdg
+ QICt= &
X +2002%)
NPS_STC 400 012 a admin 20 1sec h admin S Al =0| OfL|E | Pass
2 JHEZ g
T QIC= &,
X +2002%)

<Table 1 System Test Case Identification>
4.2  Evaluation
4.2.1 NPS_STC_100_004

Mol 2Lt oi7|stE eIzt

—

™
0%

2 M tiZIx =7k 20 =X Eet

of

4.2.2 NPS_STC_100_005

S0l ELtn CH7|SHE laf7t

™
0%

2 [ Ci7[xb =7t E2015X| E=Ch
4.2.3 NPS_STC_300_003
ojn] 3™ olat= 20| E£X| Y=rt
4.2.4 NPS_STC_300_004
A2 SHettte 2ES EU HUXE SHLX = E=
4.2.5 NPS_STC_300_005
A= SHeitte 2Ee £U ZUXE SHEXE =t

4.2.6 NPS_STC_400_001, NPS_STC_400_005

dslabO[2t1 userlist.txtOf] 240|171 StX|2F Ctg Z0f 2A0|X| §ORM 7|E2| OpX|S}

ID S Off OJ0{A M TICE
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